50
45
40
35
30
25
20
15
10

60

50

40

30

20

10

40

30

20

10

DHAEE

ErEls#  SM4FE1085H~20H

HESE BEI

O Ay

Yy riRE

WHREH 60F EEFH 60F

7H~9B®
FELEICOWT

. I
#=ILL

\

SH3INADTLERBL

/sz: /J »

BEIEw

HAEMIZDOWNT

‘E#t
9+

TA~9R#EREICDOWT

50

40

30

20

10

SR[BERAEER (&%)

SHRTE R IS bR T DR

10% 30%  50%LLE

Zfem L

THRTERRERIC Lk N T DEELL

10% 30% 50% L1 E

5% 3N B DEARM

SH3NBOEREICOVT

(=40

Z7 L



(&)

35
30
25
20
15
10

50

40

30

20

10

70
60
50
40
30
20
10

60
50
40
30
20
10

REWE)ICOWT

#ElL

BEEVICONT

IR EIZOWNT

Ehe L 7= ES DR

HENIZDONT

35
30
25
20
15
10

192}

45
40
35
30
25
20
15
10

60
50
40
30
20
10

S’ 3 W AOEREUREE)ICOWT

(=g

SHINADERRY DRBLICONT

ElE 0

S#3N B ORBREICDONT

M

—
HELTWVD AELTLAL

EERE

LBRDOER 23

2. ARFefmg DET 2

3.EMBOEAE 30

LAFEOIEM 2

5.15 | K MHDEA

6.FREE & DFEFHL

T IR 4

8 REE DS 19

9.4k E B 5




SHIEE SSHAAEHER (B%H)
EMEREE  SM4FE1085H~208
FAEAE BEICLZETY VAR

m&E#  15%F
TR~9R® SR BRI H N T DL
8 FLEEIcOWT .
6 7
6
. 5
4
5 3
2
. ; []
B mEe e 0% 3% souMb AL
SH%3INADTFLERBL STRTFERIRFERIC LR T DIEELEL
8 10
7 8
6
5 6
4
4
3
: 2 I
1
. | 0 [ |
810 REIE L HA 10% 30% 50% L 2L
EABEMICONT 514 3 1 B O B
12 10
9
10 3
8 7
6
6 5
4
4 3
1
0 0
8 REI L T = R T
TA~9AHEREIZONT S%3NBOEREICONT
14 12
12 10
10
8
8
6 6
4 4
: 2 [ ]
0 L 0

it (= 4W T 7 (W T&



(%)

REUNZ)IZDOWT 5% 3 HAOREUER)ICDONT
8 10
7
6 8
5 6
4
3 4
i 2
, 6
WE {4 =i E L0 Bt
BEEYICONT SH3INAOERBY ORBLIOLT
12
12
10
10
8
8
6
6
4
4
: [l
2
[] :
0 W= BEE L =
WE L0 Ei
HFEREIZONT SHEINADERBHREICONT
14
15 12
10
10 8
6
5 4
2
0 _——
0 = \ = AV A
=1 h LA SELTWS STEILTLAL
RERE
1.BE DX 3
r&ﬁ -
DWW .
FBHIZOWT D RO ET 0
15 EMR O EE 7
o 4 NEFE DG 0
5. B8 &G0 E 0
5 6.[FEEE & DS 0
. [ T M HEIREE 2
BF EIE TR 8.BEEHEDZEL 6
CREY iy 1




SHAEE
EifiS3:1 SM45FE10A5H~20H
AEAE BEICLDZeTYVIRAE
E&#%  15%
7TH~9R D
10 FTLEEIZOWT
8
6
4 I
2
0 ll
E{E40

O FRr N W s U OO N

=
o

O R, N WA UI O N OO

10

SH%3IHADFTLERBEL

KIBEAEER (8 - NEE)

RN

EAEMIZOWT

I I I
CIE

E

7TR~9R#EREICDOWT

7 li-{F 4

SHRTE R IS bR TR

10

[}

S

: [
0

10% 30% S0% U E EfAaL

STRTE AR I b N T DR

8
7
6
5
4
3
2
1
0
10% 30% 50% M EfiL
5% 3 H A DA B
12

10
8
6
4
-1l
0

L (=40

SH3INBOEREICONT

10

= BEIE L T



(80 - /1N5EZE)

REUNZR)ICDOWT
10 10
8 8
6 6
4 4
2 2
0 0
uE HEIE L 1

BEBYIZONT

12

12
10

10
8

o N B O ®
o N &

BE 0 =,
BB EICDOWVWT
14
15 12
10
10 8
6
5 4
2
0 | 0
EhEL 7= ES PR
FEDIZDONT
12
10
8
6
4
: ]
0 [ |

5% 3 W A OE () I DN T

SE BiEn Bt

SHINADESRYDRBLICOWVWT

HE BEn e

SH3NBORBEREICDONT

HELTWD SHELTULAL

RERE

LBEDEX

2 ARFEME DIET

3R OEE

LN GS= {2kl

5.E &N EL

6.[FA%EE & DFEFEBUL

TP RS

8.REEH D=

9. &M E

NjoO|lo|o|lo|lo| NN N




SHIEE SSHRAAETHER ELE%)
ErElEE SM4E10858~208
FEAE BEICLZETY VAT

mZE# 15
7TH~9AD S RTAE IR 1S Hb R T 2R b
10 FELEEICONT .
7
8
6
6 5
4
4 3
5 2
. [ | [ |
0 0
&N i (g Ve 10% 30% 50% U E ZlbAaL
SH3NADTLEREL ST ERIEFHA IS N T DR
10 7
. 6
5
6 4
4 3
2
2 1
o N 0
@ L0 A 10% 30% 50% L E B L
FEANEMIZDONT S 3 51 B O A ER
12
10
10
8
8
6 6
4 4
: [] :
0 0
b7 O T = — -
7TR~9R#EREICDOWT SHINAOEREIZOVT
14 12
12 10
10
8
8
. 6
4 4
2 - 2
0 0
t57 BEn T - T Tix



(BIE%)

FE ) I DWW T S 3N BDEEUE)ICOWT
14 12
12 10
10 8
8
6
6
4 4
z o i
0 0
5E LY Bt e e =
BEBEYICONT SH3INADEREYDRFELIZOVT
9
14 ]
12 7
10 6
8 5
6 4
3
4 2
2 ] 1
0 0
wE REIF L E44 WE TR =1t
FHREIZOWNT SHEINADOEBHREICONT
16
20 14
12
15 10
8
10 6
5 4
2
0 0 —
L7 EhL AL SHELTWLS SHELTLAL
BRERE
1LEEDEX
'24 -
HEHIZOWNT 2R DIE T
14 3EMBOSE
i; A NEE DB 1
. 5.E &N EL 1
6 6.F%EE & DEEHIL 2
4
7.
) . AWE{%% 1
0 S.REREHE DS 2
BF I N 9. % kE 1




SHAEE FII[BAAETBR (P—ER)
EHERFEA SH4E10A5H~20H
FAEAE BEICLZETUVIAR
mZE# 15
7TR~9RD S 122 B 1 H~C OO SRR
10 FELEICONT ;
8 5
6 4
. 3
2
2
1
e S 0
0 BEw pE) 10% 30%  s0%ME ZfbalL
SH%3INADT/LEREL SETERIRFERIC bR T DEEFE L
8 7
7 6
6 5
5 4
4
3 3
5 2
1 1
0 - 0 .
=)l L0 PR 10% 30% 50% Uk Zftim L
EAEMIZONT 5% 3 h B Ot A B
14 14
12 12
10 10
8 8
6 6
4 4
2 2
o || | 0
7 EE 0 T k= {4 T
TR~9R#ERBREICDOWT SHINADEREICONT
14 16
12 14
10 12
. 10
8
6 6
4 4
2 2
0 - 0 ||
+7 i {F W T% 7 B0 &



(H—Ex%)

B (NZ)ICDWNT St 3 W BOREUNE)ICOVNT
12 12
10 10
8 8
6 6
4 4
2 [ 2 [
0 L 0 [ |
e e B Wz e B
EEiRYICOWT S%3INAOARBY DRBELICDLT
9
10 8
8 7
6
6 5
4
4 3
2 2
1
0 0
uE ETEAN Eft E T TEA B
REREICOWNT S#3INADOERFEHREICONT
16
14
15
12
10
10 g
6
5 4
2
0 0
Rt L7 R L7 SHEL TS SHE L T LA L
rRERE
— =
S IZD T LRROEE 2
2 IRFEMEDIET 0
14 EME O EE 6
12 N
10 LANEE OB 1
8 5.5 REFDOEL 0
6 6.[A%E & OIS 3
4
, T MR E 1
0 ] S REEOBIL 6
BRI BIE = 9.1k E B 1




